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this one cannot; Rabi Mayer and Rabi Yehudoh hold him liable

Overview

In a case where each individual alone could not have done the 79%%7 (for instance it
was a heavy object which neither could carry out to the 1"777), but together they were
able to do the 71289, they are both 21 (a nxvn 127p)! according to >"M ™. Our
mooIn explains why our X723 does not contradict another X7,
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This which the X''2%9 asked; why do we not say that the Merciful one said to

bring one NRWM 1277, if one desecrates the naw -
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But not two or three nxvn, as the X3 states regarding 9212; the answer was
explained in "M '7 pa5.

Summary
The question of two NMXvn was resolved in p"2.

Thinking it over

1. Why does n1901n assume (in 2"2) that each one brings a separate nXvn (perhaps
they bring one in partnership), and why does n901n assume that they each receive
n75 if done 711 (since it is 121 2127 1K 11)?

2. The 770 does not state explicitly that for naw 717°11 one brings one nXun, however
it does state specifically that for a 7v7n 7w there is one 1913; how can the X"
compare the two cases?!

! See the moon cited here where NMdON writes NXVA 277 TM T 23 XANOM.

2 The rule is if a 7977 M (who killed three people) kills a fourth person, the ox is stoned to death and the owner must
pay 1912 (ransom money). The X3 there discusses that if the W was owned by partners; they can’t each pay the full
19713, for the 77N wrote one 791, but not two 191, w"»y. The same question applies here, seemingly there is one 211
nxun for one desecration of the Naw; not two NRVA NI2P.

3 We cite the mpon there; 7X°27 R 7977 TR M2NT DRLA T RO NAMWR 21 2°7°1 NI WTIR 207 71 927 11°0 2nn
D°IWY MWW 712 AT M7 An? 17207 9910 YaR nwvn onw. By naw if they would both do it knowingly they would each
be n75 2n, therefore by aw they are each nXun 211 (see ‘Thinking it over’). Secondly by naw the nXuvn goes to
Hashem so there is no concern if two mxvn are brought, but regarding 1913, since it goes to the deceased’s family,
why should they profit because the ox was owned by two.
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